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ID100 Reader SDK 3%

(1). ZKIDR100_ActiveX_Setup.exe.

0 3A

E# ActiveX

<OBIJECT ID="ID100Control" CLASSID="CLSID:BAD80877-E3D2-41CC-91AE-
C7FD9D019E36"></OBJECT>

i, ID100Control.htm

BOOL Connect();

BRI, IR [E] TRUE, 2RISR 9] FALSE.
BOOL DisConnect();

Wi 5 e g 1 E, DR ] TRUE, 2GR [A] FALSE.



BSTR ReadContent();

R EMEE S, DARHETZRFRIRE, \t ASBERT, & EME N2 RN, #H
GetLastError SR RS, iR UL SHFHRSIRE.

cardno=350583*****xx*kkky\tname=[#**\tsex=5F \tnation=7¥ \tbirth=1985 F-* H *
H \taddress=4 £ 44 FF % 117 44 B8+ * **\torg=F4 % 11 A % Jij \tvalidata=*4F* F * H -
*Ex H*H

BSTR ReadContentEx();

B IE(E B, LLJSON #4 3Cikk [ml .
Ret: 2R S MR

{"ret":"0", "info":{ "cardno":"35058319851005547X", "name":" [ **", "sex™:" 53 ", "nation":" ¥ ",
"birth":"1985 4E* H*H", "address":" @ 4 B 21T *", "org™:"FI 2T A %", "validata™:"2012 4E 02
H 17 H-2032 4£ 02 A 17 H", "photo":" B {}ilF k1% Base64 ‘F74F5:" } }

LONG GetLastError();

SRR RIR FME, RFEMESHH RS K . ReadContent 3K [ 2 5 A A

BSTR GetPhotoFileName()

REL b — RS B S A ik R
HI#E: ReadContent/ ReadContentEx X))
R[] 7 RO S R ] R 250 A5

| | hidig




0 B

1 PN ER)ii6 = e s SN
-2 FTHFHldR ST 2RI

-3 BEEUCE R

-100 WA RIS




